Magnitude

Transfer function: (IOP\-SUSEY_MDAC4_TP_CH4) / (ETMY_L3_ESDOUTF_LL_OUT)
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Discrepancy: (measured)/(expected)

1.05

X XX

Phase [deg]

* + | §+
+ % " |
10°2 o + et — * X% £ *
+ + 4+ 4 1.04 N o e S he
+ + +
+ '|:|_ + ‘ ﬁ%k -
10*! 4 7 . + £ +
L * 1.03 Cox ** s
X + X ‘
0 ES — $ q; xk * >g<-|.§£_
1071 b 1.02 ¥ oy : 4351
X ®
+ * * + >§’ﬁ_'-x
107" Fot : 1.01 ¥ B 1
' x * * X *
: + 9 ﬁ = 3
F = e <
- = — ¢
102 L L i S 1 — am > X ~——
+ ‘ + g . 3 %
+ ok > 2 i
1602 - 0.99 S g K "
+ * ) * X
+ * * -
« * X e
04 0.98 ¥ -3 AR oo+
T * x X St'
* £ I+
. 0.97 e SUSKRTIIERS ITEE: ‘TEE .
10 * +
* % »
* § +
| 4 096 oo X : x
10708 Measured , +  FIR uncorrected Sk
Expected X FIR corrected
| | | | 0.95 . | L % x_| |
1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000
2 I I F
+
‘ + + ¥ +
150 " + L+
+
1.5 Ty : R
+ + H+ N
100
1 T
+
+
+
+
50 0.5 o
+
— +
S, ety A
0+ @ 0 = )
) o o .
© 1 =
+ ‘ ‘ %;r
+ , + ]
50 051~ + N . + +
o ++ 4+ n
H# #H +
++ +3
1+ B , R _
-100 + ° +¢
+ N +
+ +
T " |
-1.5 R R —
~150 +
[ L
, g 5 | | + | + | | | |
0 1000 2000 3000 4000 5000 6000 7000 0 1000 2000 3000 4000 5000 6000 7000

Frequency [Hz] Frequency [Hz]



